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(a) Oaristoboatas . isto bike.
b) Quiver is to arrows as sheath is to

c) ‘Yes is to possible as ‘no’ is to

(d) Audio is to radio as vision is to

(e) Library istobooksas — isto paintings.
(f) Strongistohorseas — isto mule.
(g) Road is to motorist as footpath is to

(h) Mouth is to tin whistle as hand is to

(i) Lorryistodieselas — istocar.

Exercise 4 Write the correct block word under each picture

Exercise 5 Make as many words as you can using the letters from the word
percentage. All words must have a minimum of 4 letters.




